Efficiency vs dr

x

J
9.045

0.05

DQMstep3_QCD_default CHECK

107 107 o1
TP min AR

[ Efficiency vs dr (track,jet) |

+—

o
0.18F

o
=

X

<]
%

etticien

Ratio

20.14F

>
[8)

0.2

0.16F

0.12F
0.1
0.08F
0.06F
0.04F
0.02F
a

0.95

1073 1072 107

AR(TP, jet)

Efficiency vs pu

o]

o
9.045
20.04
(]
®.035

=
[}

0.025

0.015

0.005

Ratio

0.05

0.03

0.02

0.0

ol

.................................................

................................................

i)

o

©

a
]

o
()
(@]

20 30 40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


